17 July 2019

BY ELECTRONIC LODGEMENT

Market Announcements Office ASX Limited 20 Bridge Street Sydney NSW 2000



Norton Rose Fulbright Australia ABN 32 720 868 049 Level 18, Grosvenor Place 225 George Street SYDNEY NSW 2000 AUSTRALIA

Tel +61 2 9330 8000 Fax +61 2 9330 8111 GPO Box 3872, Sydney NSW 2001 DX 368 Sydney nortonrosefulbright.com

Direct line +61 2 9330 8688

Email

dean.zinn@nortonrosefulbright.com

Your reference: Our reference:

Dear Sir/Madam

Form 604: Notice of change of interests of substantial holder

We act for Blue Stamp Company Pty Ltd (ACN 141 440 931) as the trustee for the Blue Stamp Trust (ABN 20 026 742 248) (**Blue Stamp**).

On behalf of Blue Stamp and Mr Luke Trickett, in accordance with section 671B of the *Corporations Act* 2001 (Cth), we enclose a Notice of change of interests of substantial holder (Form 604) in respect of Silver Chef Limited (ACN 011 045 828) (ASX:SIV).

Yours faithfully

John Elliott Partner

Norton Rose Fulbright Australia

John Whit

Form 604

Corporations Act 2001 Section 671B

Notice of change of interests of substantial holder

To Company Name/Scheme

Silver Chef Limited

ACN/ARSN

011 045 828

1. Details of substantial holder (1)

Name

Blue Stamp Company Pty Ltd (ACN 141 440 931) as the trustee for Blue Stamp Trust (ABN 20 026 742 248); Luke

Anthony Trickett

ACN/ARSN (if applicable)

As above

There was a change in the interests of the

substantial holder on

15 / 07 / 2019

The previous notice was given to the company on

12/07/2019

The previous notice was dated

12/07/2019

2. Previous and present voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

Class of securities (4)	Previous notice		Present notice		
	Person's votes	Voting power (5)	Person's votes	Voting power (5)	
Fully paid ordinary shares	2,930,070	7.46%	3,568,630	9.09%	

3. Changes in relevant interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

Date of change	Person whose relevant interest changed	Nature of change (6)	Consideration given in relation to change (7)	Class and number of securities affected	Person's votes affected
15 July 2019	Blue Stamp Company Pty Ltd	Refer to Annexure A	Refer to Annexure A	Refer to Annexure A	Refer to Annexure A
15 July 2019	Luke Anthony Trickett	Refer to Annexure A	Refer to Annexure A	Refer to Annexure A	Refer to Annexure A

4. Present relevant interests

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of relevant interest	Registered holder of securities	Person entitled to be registered as holder (8)	Nature of relevant interest (6)	Class and number of securities	Person's votes
Blue Stamp Company Pty Ltd	Blue Stamp Company Pty Ltd	Blue Stamp Company Pty Ltd	Registered Holder	3,568,630 fully paid ordinary shares	3,568,630
Luke Anthony Trickett	Blue Stamp Company Pty Ltd	Blue Stamp Company Pty Ltd	Blue Stamp Company Pty Ltd is a body corporate which Luke Anthony Trickett controls	3,568,630 fully paid ordinary shares	3,568,630

604

5. Changes in association

The persons who have become associates (2) of, ceased to be associates of, or have changed the nature of their association (9) with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name and ACN/ARSN (if applicable)	Nature of association
Not applicable	Not applicable

6. Addresses

The addresses of persons named in this form are as follows:

Name	Address
Blue Stamp Company Pty Ltd	Level 3, 1 Breakfast Creek Road, Newstead QLD 4006
Luke Anthony Trickett	Level 3, 1 Breakfast Creek Road, Newstead QLD 4006

Signature

print name Luke Anthony Trickett capacity

date

Sole Director

sign here

17 / 07 / 2019

DIRECTIONS

- If there are a number of substantial holders with similar or related relevant interests (eg. a corporation and its related corporations, or the manager and trustee of an equity trust), the names could be included in an annexure to the form. If the relevant interests of a group of persons are essentially similar, (1) they may be referred to throughout the form as a specifically named group if the membership of each group, with the names and addresses of members is clearly set out in paragraph 6 of the form.
- (2)See the definition of "associate" in section 9 of the Corporations Act 2001.
- (3)See the definition of "relevant interest" in sections 608 and 671B(7) of the Corporations Act 2001.
- (4)The voting shares of a company constitute one class unless divided into separate classes.
- (5) The person's votes divided by the total votes in the body corporate or scheme multiplied by 100.
- (6)Include details of:
 - any relevant agreement or other circumstances because of which the change in relevant interest occurred. If subsection 671B(4) applies, a copy (a) of any document setting out the terms of any relevant agreement, and a statement by the person giving full and accurate details of any contract, scheme or arrangement, must accompany this form, together with a written statement certifying this contract, scheme or arrangement; and
 - (b) any qualification of the power of a person to exercise, control the exercise of, or influence the exercise of, the voting powers or disposal of the securities to which the relevant interest relates (indicating clearly the particular securities to which the qualification applies).

See the definition of "relevant agreement" in section 9 of the Corporations Act 2001.

- (7) Details of the consideration must include any and all benefits, money and other, that any person from whom a relevant interest was acquired has, or may, become entitled to receive in relation to that acquisition. Details must be included even if the benefit is conditional on the happening or not of a contingency. Details must be included on any benefit paid on behalf of the substantial holder or its associate in relation to the acquisitions, even if they are not paid directly to the person from whom the relevant interest was acquired.
- If the substantial holder is unable to determine the identity of the person (eg. if the relevant interest arises because of an option) write "unknown". (8)
- (9)Give details, if appropriate, of the present association and any change in that association since the last substantial holding notice.

Annexure A - Change of interest of substantial holder

This is Annexure A of 2 pages referred to in Form 604 Notice of Change of interests of Substantial Holders signed by me dated 17 July 2019

Trade Date	Transaction	Shares Bought	Price (\$)	Total Consideration
11-Jul-19	on-market	26,000	s0.690	\$17,940.00
11-Jul-19	on-market	5,100	s0.690	\$3,519.00
11-Jul-19	on-market	20,000	s0.695	\$13,900.00
11-Jul-19	on-market	4,366	\$0.685	\$2,990.71
11-Jul-19	on-market	2,369	\$0.695	\$1,646.46
11-Jul-19	on-market	12,500	\$0.695	\$8,687.50
11-Jul-19	on-market	1,300	\$0.690	s897.00
11-Jul-19	on-market	8,229	\$0.695	\$5,719.16
11-Jul-19	on-market	6,000	\$0.695	s4,170.00
11-Jul-19	on-market	2,384	\$0.690	\$1,644.96
11-Jul-19	on-market	5,302	\$0.695	\$3,684.89
11-Jul-19	on-market	93	s0.690	\$64.17
11-Jul-19	on-market	8,807	s0.695	\$6,120.87
11-Jul-19	on-market	112	\$0.695	\$77.84
11-Jul-19	on-market	1,027	\$0.695	\$713.77
11-Jul-19	on-market	69	\$0.690	\$47.61
11-Jul-19	on-market	5,298	\$0.690	\$3,655.62
11-Jul-19	on-market	7,176	\$0.690	\$4,951.44
11-Jul-19	on-market	7,287	\$0.690	\$5,028.03
11-Jul-19	on-market	108	\$0.690	s7 4 .52
11-Jul-19	on-market	814	\$0.695	\$565.73
11-Jul-19	on-market	39	\$0.695	\$27.11
11-Jul-19	on-market	87	s0.690	\$60.03
11-Jul-19	on-market	6,669	\$0.690	\$4,601.61
11-Jul-19	on-market	69	\$0.690	s47.61
11-Jul-19	on-market	4,949	\$0.690	\$3,414.81
11-Jul-19	on-market	3,048	\$0.690	\$2,103.12
12-Jul-19	on-market	5,132	\$0.695	\$3,566.74
12-Jul-19	on-market	10,351	\$0.695	\$7,193.95
12-Jul-19	on-market	8,344	\$0.695	\$5,799.08
12-Jul-19	on-market	16,173	\$0.695	\$11,240.24
12-Jul-19	on-market	13,827	\$0.695	\$9,609.77
12-Jul-19	on-market	9,612	s0.695	\$6,680.34
12-Jul-19	on-market	10,764	\$0,695	\$7,480.98
12-Jul-19	on-market	100,000	\$0.700	\$70,000.00
12-Jul-19	on-market	7,414	\$0.695	\$5,152.73
12-Jul-19	on-market	13,347	\$0.695	\$9,276.17
12-Jul-19	on-market	6,000	\$0.700	\$4,200.00

604	page 2/2	15 July 2001
-----	----------	--------------

12-Jul-19	on-market	7,138	\$0.695	\$4,960.91
12-Jul-19	on-market	7,834	\$0.695	\$5,444.63
12-Jul-19	on-market	4,500	\$0,700	\$3,150.00
12-Jul-19	on-market	327	s0.695	\$227.27
15-Jul-19	on-market	100,000	\$0.695	\$69,500.00
15-Jul-19	on-market	16,769	\$0.695	\$11,654.46
15-Jul-19	on-market	4,400	s0.700	\$3,080.00
15-Jul-19	on-market	21,607	\$0.705	\$15,232.94
15-Jul-19	on-market	58,759	\$0.710	\$41,718.89
15-Jul-19	on-market	14,900	s0.700	\$10,430.00
15-Jul-19	on-market	12,100	s0.700	\$8,470.00
15-Jul-19	on-market	5,982	\$0.695	\$4,157.49
15-Jul-19	on-market	10,872	s0.695	87,556.04
15-Jul-19	on-market	20,500	s0.700	\$14,350.00
15-Jul-19	on-market	2,500	\$0.700	\$1,750.00
15-Jul-19	on-market	7,703	\$0.695	\$5,353.59
15-Jul-19	on-market	2,503	\$0.695	\$1,739.59

Shares purchased on 11 July 2019 139,202 Shares purchased on 12 July 2019 220,763 Shares purchased on 15 July 2019 278,595

print name	Luke Anthony Trickett	capacity	Sole D	irector				
sign here	Mile Anto	date	17	1	07	1	2019	